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(i) Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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Attempt any five questibns.
All questions carry equal marks.
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1. (@) What do you mean by Production Possibility Curve ?

How is it used to explain the central problems of an

economy_?' 10
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Calculate equilibrium price and equilibrium quantity of
a commodity for the following demand and supply

functions :
demand function : Qg =270 - 4P

supply function ; Q,=-12 + 8P

- Qg = quantity demanded

It

Q, = quantity supplied

P = price of the commodity. s
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i BEH : Q, = ~12 + 8p

Qd=tﬁ=ﬂ
Qs=-ﬁ .-
P =% ! ®iFd |

PTO.



(@)

{h

()]

(4) 5240
Distinguish between price elasticity of demand, income
elasticity of demand and cross-elasticity of demand. 9
Htn # wim o, S # e o e wh
fdl @ 8 s v wifwe

Price of a commodity increases from Rs. 3 to Rs. 4 per
unit. As a result total expenditure on it decreases from
Rs. 300 1o Rs. 200. Find out price elasticity of demand

4

using percentage method, 6
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With the help of indifference curves explain the-income
effect and subsl;tuticm effect of a fall in price of an inferior
commodity. | 10
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Derive demand curve from price c'onsurnpt_ion

curve, - 5
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Using appropriate diagrarms, illustrate the relationship
between average variable cost, average total cost,

average fixed cost and marginal cost, 1]
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Describe equilibrium condition of a producer with the

help of isoquants. 5
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Distinguish  between perfect competition | and

mm;opoly. 6
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Compare the price and output levels in equilibrium of a

firm under perfect competition and monopoly. L9
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What do you understand by prisongr’é dilemma ?
How ddes this elxplain the bechaviour of firms under
ofigopoly ? ‘ : 10
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Describe public goods. Why do markets fail for such

goods ? ' _ ' 5
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Derive labour supply curve with the help of

~

indifference curve. . 7
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(b)  What are the arguments given in favour of protection from

free trade ? ' , 8
”
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Write short notes on any hwo : 74,7V

(@) Consumer’s surplus and Producer’s surplus;

()  Law of diminishing marginal utility;

- {¢) Comparative advantage theory of International trade.
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